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O HADISE JIQEHE 450 WA Z A
60,000,0002 x 99.28/100 = 59,568
O S 82HLX LSH2(PAC)UZELH HHIZA
30,000,000 x 14! = 30,000
432 0 432 |03 AIZR20idl
O AR JISEI 45)| D2 A
60,000,0002 x 0.72/100 = 432
405
XA SH S 102,500 102,500 0
102,500 102,500 0o |01 R&HSH
O HeZH4+XN DgmIZ g 30,000,0002 x 1CH = 30,000
O HEeEZHLH Fam-EZ g 15,000,000 x 2CH = 30,000
O WEHLH F4amHIT 1 2,500,0009 x 104 = 2,500
O SEHYLN DAINA(FA)MTA HaASFI 2
20,000,000 x 1CH = 20,000




A
P 31 (230) REXLFS Mg (235) JIAFX S 1 (405) RAFHSHIS (cel : mm

= S
H = - = =
O SS9 82HLXN HAA2I|2YU(1E)
5,000,0009 x 47| = 20,000
237
ZI|PHI=E 25,300 3,490 21,810
405
RHAHE SHIS 25,300 3,490 21,810
25,300 3,490 21,810 |01 A& HSH
O LTI (2ESS#HID, A4S D) 4,500,0002 x 204 = 9,000
O LES HAEH(2THAD) 1,700,000 x 10§ = 1,700

1,400,000& x 604 = 8,400
O SMMNEII(a==51) 1,100,000& x 104 = 1,100
O ddbldLED(E8E ) 800,000& x 14 = 800
O LI (&= 600,000& x 204 = 1,200
O MBHAI (A= D) 300,000& x 104 = 300
O RS &4=50) 250,000& x 1004 = 2,500

O HM& #3371 (=5 1t) 300,000& x 104 = 300




PNE=EPE- & @ (280) HIRSRMAE Mg : (282) F2xYS @23 48 =2 : (601) HUSASHS (cre] : xa
D—l’ g A} OH @ lL;‘ E = 2F A = =
%OF ,}\_“ O'.l % O:” (] =3 0:” /.Ll' % =) [=] & = j' o=
280
HesSHae 669,200 834,800 A 165,600
282
¥exya 4z 4 669,200 834,800 - 165,600
601
Y33 669,200 834,800 £ 165,600
669,200 834,800 A165,600 |04 JSIFHLSESLE
O 8Z2 WS8X2 @2 482 152,500,0008 x 43 = 610,000
O &dR BSSX3 22 4#3 14,800,0008 x 43| = 59,200
800
ol bl 1,436,783  1,001,337| 435,446
801
ofl tl 1,436,783|  1,001,337| 435,446
801
ofl tl bl 1,436,783|  1,001,337| 435,446
=0l & @ =
1 436.783|  1.001.337| 435446 | O MEOL viBIH 1,436,783 ,000 1,436,783




